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1. The problem statement goes here.

Proof. This is the solution.

(iii) enumeration
(4) environment.

This is centered text.

To display centered math text, try !

(V) 3y)(x = y).

Some useful symbols:
e XY}, C,C. 0, XUY, XNY,P(X),V,3,A,V, 7, =, &, a,8,7,6,2%
If you want to display a line and “tag” it with a symbol, try this:
0= M S M5 M —o. (1)
Later, to refer to this line, write “By (I), we deduce ...”. ]

This is one way to write a system of linear equations:

rH2y+3z =1

)
T— Y+ 2= 5
3r—2y+ z= 5

1 2 3] [« 1 1 2 3\ [z 1
1 -1 1| |y|=3] o |1 -1 1||y|=]2
3 2 1|z 5 3 2 1) \z 5

!These fonts, in order, are roman, slant, teletype, bold, italic, bold italic
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